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Center 2.405000000 GHz Span 0 Hz
Res BW 1.0 MHz #VBW 3.0 MHz Sweep 100.0 ms (1001 pts)

Jsc i Alignment Completed LB

Time of One Pulse Trains over 100 ms Scale




Avyg Type: Log-Pwr

Trig: Free Run
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Agilent Spectrum Analyzer - Swept SA
Marker 1 A 21.9000 ms

Sweep 50.00 ms (1001 pts)

#VBW 3.0 MHz

STATUS

IMSG

21.90 ms

Time of One Pulse with Blanking Interval
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INT REF| SOURCE OFF |/I\ALIGH AUTC/NORF

Avyg Type: Log-Pwr

Marker 1 A 11.7500 ms

Trig: Free Run
#Atten: 10 dB

PNO: Fast ()
IFGain:Low

Sweep 50.00 ms (1001 pts)

#VBW 3.0 MHz
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Agilent Spectrum Analyzer - Swept SA
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Marker 1 A 11.7600 ms .

Avg Type: Log-Pwr
PNO: Fast ~»— Trig:Free Run
IFGain:Low #atten: 10 dB

Ref 96.99 dBuV

Center 2.405000000 GHz
Res BW 1.0 MHz

Span 0 Hz
#VBW 3.0 MHz Sweep 20.00 ms (1001 pts)

IMSG

STATUS

Number of Pulses in One Pulse Train = 16




Agilent Spectrum Analyzer - Swept SA
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Marker 1 A 220.000 pys ) Avg Type: Log-Pwr
PNO: Fast ~»— Trig:Free Run Avg|Hold: 11

IFGain:Low #atten: 10 dB

Ref 96.99 dBuV

Center 2.405000000 GHz Span 0 Hz
Res BW 1.0 MHz #VBW 3.0 MHz Sweep 1.000 ms (1001 pts)

IMSG STATUS

Number of Pulses in Pulse Train = 16
Time per Each Pulse = 220 us
Total On Time = 3.52 ms
Total Duty Cycle = 3.52 ms/21.90 ms = 16.073%
The Peak to Average Ratio is -15.87 dB



